

John McAdams Harrison County 1801 23rd Avenue Gulfport, MS 39501 7/27/2017

In Reference To: HCGen Invoice No: 013336

Harrison County General Bill ending April 2017

## Services Rendered

Date	Staff	Description	_ Hours _	Rate	Charges
4/02/2017	PTG	Multiple emails with Adam Vaughn Re: Hinds REO, LLC v. Hood, et al	0.20	\$150.00	\$30.00
4/02/2017	TCH	Email to TT Re: D'Iberville Request for Assistance (Hwy 15 Sportsplex)	0.10	\$150.00	\$15.00
4/02/2017	тт	Email from TCH Re: D'Iberville Request for Assistance (Hwy 15 Sportsplex)	0.10	\$150.00	\$15.00
4/03/2017	PTG	Received and Reviewed Motion for Default Judgment Re: Daley v. Sumrall, et al	0.10	\$150.00	\$15.00
4/03/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Hinds Reo, LLC v. Hood, et al (2)	0.50	\$150.00	\$75.00
4/03/2017	PTG	Preparation of Amended Answer to Complaint Re: Hinds Reo, LLC v. Hood, et al (1)	0.20	\$150.00	\$30.00
4/03/2017	PTG	Received and Reviewed Agreed Order Re: Daley v. Sumrall, et al	0.10	\$150.00	\$15.00
4/03/2017	PTG	Received and Reviewed Amended	0.10	\$150.00	\$15.00

Jesse Boyce Holleman 1924-2003 Tim C. Holleman tim@boyceholleman.com

L. Dean Holleman dean@boyceholleman.com

Patrick T. Guild patrick@boyceholleman.com

J Tricia S. Tisdale tricia@boyceholleman.com

Davisa	Hallaman	224	Accordates

Boyce Holleman and Associates Page No.: 2

Motion	for	Default	Judgment	Re:	Daley
,	. •				

v. Pries, et al

		v. Pries, et al			
4/03/2017	TCH	Email from TT Re: D'Iberville Request for Assistance (Hwy 15 Sportsplex); Email to TT Re: Arnold; Email to and from TT Re: 2016 Harrison County Fair; Email from Becky Payne Re: Voting Precincts; Email from Pam Ulrich Re: SMSC Use of Recreational Facilities; Review SMSC Concessions (K) and Supporting Documentation	0.70	\$150.00	\$105.00
4/03/2017	TT	Review/Revise Order Approving D'Iberville Request for Assistance Re: Hwy 15 Sportsplex; Email to TCH Re: D'Iberville Request for Assistance (Hwy 15 Sportsplex); Email from TCH Re: Arnold; Email to and from TCH Re: 2016 Harrison County Fair; Review Payne Correspondence Re: Lyman Precinct Consolidation; Multiple Emails to and from Paul Barnes Re: Lyman Precinct Consolidation; Review Requirements for Precinct Relocation/Consolidation; Draft Order Approving Consolidation of Voting Precincts Re: Lyman; Email from Pam Ulrich Re: SMSC Use of County Farm Recreational Facilities; Review Correspondence and Concessions (k) of SMSC	3.10	\$150.00	\$465.00
4/04/2017	PTG	Received and Reviewed Summons and Complaint Re: Bennerman v. Cherkashina, et al	0.20	\$150.00	\$30.00
4/04/2017	PTG	Received and Reviewed Summons and Complaint Re: McCaffrey v. Hood, et al	0.20	\$150.00	\$30.00
4/04/2017	PTG	Received and Reviewed Clerk's Entry of Default Re: Daley v. Sumrall, et al	0.10	\$150.00	\$15.00
4/04/2017	TCH	Email to TT Re: MSP (k) Amendment; Email to TT Re: EE Fitness Center; Email to and from TT Re: Magnolia Walk Plat Amendment; Review Magnolia Walk Plat Amendment; Email to TT Re: Brickyard Bayou Easement (x2); Email to TT Re: Gulfport Highlands	0.80	\$150.00	\$120.00

4/04/2017	TT	Email from Claudine Forbes Re: 4.10.2017 Agenda; Review 4.10.2017 Agenda; Email from TCH Re: MSP (k) Amendment; Multiple Emails to and from Dusty Reed Re: Lyman Precinct Consolidation; Email from Pam Ulrich Re: Rentals of Fairgrounds Facilities; Finalize Order Approving D'Iberville Request for Assistance (Hwy 15 Sportsplex); Email from Pam Ulrich Re: EE Fitness Center; Email from TCH Re: EE Fitness Center; Email to and from TCH Re: Magnolia Walk Plat Amendment; Draft Order Approving Magnolia Walk Plat Amendment; Email from Danny Boudreaux Re: Magnolia Walk Plat Amendment; Call to Danny Boudreaux Re: Magnolia Walk Plat Amendment; Email from Margaret Murdock Re: Brickyard Bayou Easement (x2); Email from TCH RE: Brickyard Bayou Easement (x2); Review BMA Survey Re: Brickyard Bayou; Email from TCH RE: Gulfport Highlands; Email from Kent Jones Re: Brickyard Bayou Easement; Email to Becky Payne Re: Lyman Precinct Consolidation; Email to David Estes Re: LSBP 24(13) Title Status	3.30	\$150.00	\$495.00
4/05/2017	PTG	Review of File; Preparation of Answer to Garnishment Re: April Edwards	0.50	\$150.00	\$75.00
4/05/2017	PTG	Email from Mallorie Gray Re: April Edwards Garnishment	0.10	\$150.00	\$15.00
4/05/2017	PTG	Received and Reviewed Application to Clerk for Entry of Default Re: Hinds Reo, LLC, v. Hood, et al	0.10	\$150.00	\$15.00
4/05/2017	TCH .	Email to Jessica Ayers Re: Guardianships of Jocelyn Barner and Jasmine Barner; Email and attachment to and from Angela Thrash Re: Same; Email and attachment from Claudine Forbes Re: 4.10.2017 Proposed Agenda; Review 4.10.2017 Proposed Agenda; Received and Reviewed Adjuster's Report and Photos from Jennifer Felde Re: Source Logistics; Email to TT Re: Brickyard Bayou	1.00	\$150.00	\$150.00

Boyce Holleman and Associates Page No.: 4

## Easement

4/05/2017	TT	Email from TCH Re: Brickyard Bayou Easement; Email to and from Pam Ulrich Re: Status of Numerous General Matters; Email from Claudine Forbes Re: 4.10.2017 Agenda; Email from Margaret Murdock Re: Brickyard Bayou Easement	0.50	\$150.00	\$75.00
4/06/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Daley v. Rich, et al	0.50	\$150.00	\$75.00
4/06/2017	PTG	Received and Reviewed Judgment Re: Daley v. Pries, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Final Judgment Re: Daley v. Ellington, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Clerk's Entry of Default Re: American Pride Properties v. Engle, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Judgment Re: Daley v. Bailey Properties, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Judgment Re: Daley v. Hellmich, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Motion for Leave to Amend Complaint Re: Fisher Properties v. US Bank, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Partial Judgment Re: Daley v. Sumrall, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Received and Reviewed Partial Judgment Re: Daely v. Brown, et al	0.10	\$150.00	\$15.00
4/06/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Daley v. Arey, et al	0.50	\$150.00	\$75.00
4/06/2017	TCH	Email from Rita Bentz Re: Lease Agreement for Gulf Coast Winter Classics; Email to TT Re: Revised Gulf Coast Winter Classic Lease; Multiple Emails to and from TT Re: Change Modification to Project at Learning and Wellness Center at Tradition; Review Tradition Cost Limitation Agreement;	1.10	\$150.00	\$165.00

\$150.00

\$615.00

Email from TT Re: False Representation Regarding Use of County Facilities; Multiple Emails to and from TT Re: Revised Gulf Coast Winter Classic Lease: Review/Revise Amended Gulf Coast Winter Classic Lease: Email from TT Re: 7L Farms Lease

4/06/2017 TT

4/07/2017

4/07/2017

PTG

PTG

Email to and from Pam Ulrich Re: Multiple County Matters; Email from Claudine Forbes Re: 4.10.2017 Agenda; Review Revised 4.10.2017 Agenda; Email from Margaret Murdock Re: Brickyard Bayou Easement; Multiple Emails to and from TCH Re: Change Modification to Project at Learning and W MI Le Tr Lir CI. Re Ch Re Tr Es Er Gi Μt Re Le Co fro Co fro Re Co Bie Le Tr EE 7L Fa Co

Received and Reviewed Application to

Clerk for Entry of Default Re: Daley v.

Modification to Project at Learning and Wellness Center at Tradition; Review MDA Change Modification Letter Re: Learning and Wellness Center at Tradition; Review Tradition Cost Limitation Agreement; Email from Claudine Forbes Re: 4.3.2017 Minutes; Review 4.3.2017 Minutes; Email from Chuck Mobley Re: Change Modification Re: Learning and Wellness Center at Tradition; Email to and from David Estes Re: LSBP 24 (13) Title Status; Email from Mariano Barvie Re: Revised Gulf Coast Winter Classic Lease; Multiple Emails to and from TCH Re: Revised Gulf Coast Winter Classic Lease; Review/Revise Amended Gulf Coast Winter Classic Lease; Email from Rita Bentz Re: Amended Gulf Coast Winter Classic Lease; Email from Greg Whitfield Re: False Representation Regarding Use of County Facilties; Email from Gerald Blessey Re: Change Modification to Learning and Wellness Project at Tradition; Email from Pam Ulrich Re: EE Wellness Clinic; Email to TCH Re: False Representation Regardign Use of County Facilities			
Received and Reviewed Summons Return Re: Daley v. Arey, et al	0.10	\$150.00	\$15.00

0.10

\$150.00

\$15.00

4.10

Page No.:
-----------

		Rester, et al			
4/07/2017	PTG	Received and Reviewed Application to Clerk for Entry of Default Re: Daley v. Brown, et al	0.10	\$150.00	\$15.00
4/07/2017	PTG	Received and Reviewed Summons and Writ of Garnishment Re: Glenn Roe	0.20	\$150.00	\$30.00
4/07/2017	PTG	Received and Reviewed Summons and Complaint Re: Brooks v. Duvernay, et al	0.20	\$150.00	\$30.00
4/07/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Diamond v. Harrison County, et al	0.50	\$150.00	\$75.00
4/07/2017	ТСН	Email to TT Re: Woolmarket Community Center; Email to TT Re: Menace Property (Dedeaux)	0.20	\$150.00	\$30.00
4/07/2017	TT	Email from Angela Thrash Re: Volunteer Fire Department (k)s; Email from TCH Re: Menace Property (Dedeaux); Draft Order Setting Public Hearing Re: Dedeaux; Draft Notice of Hearing Re: Dedeaux; Call from Amy Lane Re: Menace Property (Dedeaux); Email from Pam Ulrich Re: Woolmarket Community Center; Email from TCH Re: Woolmarket Community Center; Email to Claudine Forbes Re: Order Setting Public Hearing and Notice of Hearing Re: Dedeaux; Email to Amy Lane Re: Order Stteing Public Hearing and Notice of Hearing Re: Dedeaux; Call to Dianne Williams Re: Notice of Menace Hearing (Dedeaux); Corr to Dianne Williams Re: Notice of Menace Hearing (Dedeaux)	2.30	\$150.00	\$345.00
4/10/2017	PTG	Telephone conference with Russell Manning Re: Jeffery Frye Garnishment	0.20	\$150.00	\$30.00
4/10/2017	PTG	Email to Mallorie Gray Re: April Edwards Garnishment	0.10	\$150.00	\$15.00
4/10/2017	PTG	Received and Reviewed Summons and Complaint Re: Pariona Properties v. Ali, et al	0.20	\$150.00	\$30.00
4/10/2017	PTG	Received and Reviewed Summons and Complaint Re: Pariona Properties v. Ali,	0.20	\$150.00	\$30.00

Boyce Holleman and Associates	Boyce	Holleman	and	Associates
-------------------------------	-------	----------	-----	------------

		et al			
4/10/2017	PTG	Multiple emails with Virgil Gillespie and Paul Murphy; Reviewed Proposed Order Re: Fisher Resport Properties v. Iberiabank, et al	0.30	\$150.00	\$45.00
4/10/2017	TCH	Email from John Rice Re: Gulfport Subdivision Plat Approval; Email from Noel Simms Re: Same; Email from Angela Thrash Re: Order to Advertise 20' Alley Tillman Road/Canal Road for Board Meeting; Multiple Emails to and from TT Re: Orders Vacating Streets, etc. (Kozy Kreek and Schanbacher); Email to and from TT Re: Menace Property; Email from TT Re: MSP (k); Email to TT Re: Vacation of Alley Way (Tillman Road)	0.80	\$150.00	\$120.00
4/10/2017	TT	Multiple Emails to and from TCH Re: Orders Vacating Streets, etc. (Kozy Kreek and Schanbacher); Draft Order Vacating Street, etc. Re: Kozy Kreek; Draft Order Vacating Street, etc. Re: Schanabcher; Email to and from Liz Tiblier Re: Menace Property (Gringow); Email to and from TCH Re: Menace Property (Gringow); Email to TCH Re: MSP (k); Email from Karen Olier Re: MSP (k); Email from Claudine Forbes Re: MSP (k); Review Craig Notice of Claim; Email from TCH Re: Vacation of Alley Way (Tillman Road)	2.40	\$150.00	\$360.00
4/11/2017	PTG	Received and Reviewed Clerk's Entry of Default Re: Daley v. Brown, et al	0.10	\$150.00	\$15.00
4/11/2017	PTG	Received and Reviewed Motion for Default Judgment Re: Hinds Reo, LLC v. Hood, et al	0.10	\$150.00	\$15.00
4/11/2017	PTG	Received and Reviewed Clerk's Entry of Default Re: Hinds Reo, LLC v. Hood, et al	0.10	\$150.00	\$15.00
4/11/2017	PTG	Received and Reviewed Clerks Entry of Default Re: Daley v. Rester, et al	0.10	\$150.00	\$15.00
4/11/2017	PTG	Received and Reviewed Motion for Default Judgment Re: Daley v. Brown,	0.10	\$150.00	\$15.00

et	al

4/11/2017	TCH	Email from Allison Beasley Re: Gulfport Highlands Follow-Up Meeting; Email from Greg Pietrangelo, Margaret Murdock, Hugh Keating, Dustin Uselton Re: Same; Email to and from John Rice Re: Appearance for Follow-Up Meeting; Email from John Rice Re: Roads Built at Gulfport Highlands; Email from Walt Warren Re: Property Damage Release on Cherokee Insurance; Email to TT Re: Gulfport Highlands; Multiple Emails to TT Re: Harrison County Fair Association; Email to TT Re: Menace Property (Gringrow)	1.30	\$150.00	\$195.00
4/11/2017	TT	Multiple Emails to and from Pam Ulrich Re: MSP (k); Email from Karen Olier Re: MSP (k); Review/Revise MSP (k); Email from Claudine Forbes Re: Water & Sewer Rate Ordinance; Review Exisiting Ordinances Re: Utilities; Multiple Emails from Claudine Forbes Re: Harrison County Fair Association; Email from TCH Re: Gulfport Highlands; Multiple Emails from TCH Re: Harrison County Fair Association; Email from TCH Re: Menace Property (Gringrow); Email from Pam Ulrich Re: Youth Court RFP; Email from John Rice Re: Gulfport Highlands; Review/Revise Gulfport Highlands Easement and Assignment to City of Gulfport; Email to and from Pam Ulrich Re: Travel Policy; Email to Danny Boudreaux Re: Order Vacating Streets; Email to Norris Hopkins Re: E911 Interlocals; Email to TCH Re: School District Interlocals	5.60	\$150.00	\$840.00
4/12/2017	PTG	Review of File; Preparation of Answer to Garnishment Re: Kristy Rushing	0.50	\$150.00	\$75.00
4/12/2017	PTG	Review of File; Preparation of Answer to Garnishment Re: Angelyn Skiados	0.50	\$150.00	\$75.00
4/12/2017	PTG	Received and Reviewed Partial Judgment Re: American Pride v. Engle, et al	0.10	\$150.00	\$15.00
4/12/2017	PTG	Received and Reviewed Application to	0.10	\$150.00	\$15.00

Boyce	Holle	man	and	Assoc	iates
			_		_

		Clerk for Entry of Default Re: Daley v. Rich, et al			
4/12/2017	PTG	Received and Reviewed Amended Complaint Re: Daley v. Arey, et al	0.10	\$150.00	\$15.00
4/12/2017	PTG	Received and Reviewed Motion for Default Judgment Re: Daley v. Rester, et al	0.10	\$150.00	\$15.00
4/12/2017	PTG	Review of File; Preparation of Answer to Garnishment Re: Toi Wright	0.50	\$150.00	\$75.00
4/12/2017	TCH	Attend Meeting with SMPDD, MDA, Gulfport and Gulfport Highlands Re: Gulfport Highlands; Email to and from TT Re: Lyman Precinct; Email to TT Re:Gulfport Request for Assistance (Ramsey Avenue)	2.30	\$150.00	\$345.00
4/12/2017	TT	Call to and from Cindy Alexander Re: MSP (k) Amendment; Email to and from Dorinda Sykes Re: MSP (k) Amendment; Multiple Emails to and from Cindy Alexander Re: MSP (k) Amendment; Email to and from Pam Ulrich Re: Community Center Rentals; Email from Becky Payne Re: Lyman Voting Precinct; Email from Pam Ulrich Re: Lyman Voting Precinct; Review Elections Laws Re: Voting Precincts; Email to and from TCH Re: Lyman Precinct; Email from Norris Hopkins Re: MARSOC MOU; Review MARSOC MOU; Email form Claudine Forbes Re: 4.10.2017 Minutes; Review 4.10.2017 Minutes; Email from Angela Thrash Re: Geiger Heating & Air (k)(HCADC); Email from Angela Thrash Re: C Spire (k) (Sheriff); Email from TCH Re: Gulfport Request for Assistance (Ramsey Avenue); Email from Kent Jones Re: Gulfport Request for Assistance (Ramsey Avenue)	2.80	\$150.00	\$420.00
4/13/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Bannerman v. Helsel, et al	0.50	\$150.00	\$75.00
4/13/2017	PTG	Received and Reviewed Amended Compliant Re: Fisher Bank v. US Bank,	0.10	\$150.00	\$15.00

4/13/2017	PTG	Review of File; Preparation of Answer to Amended Complaint Re: Daley v. Arey, et al	0.50	\$150.00	\$75.00
4/13/2017	TCH	Meeting with Gerald Blessey and Peter Abide; Email from William Brown Re: Gulfport Highlands Phase 2 Easement; Email to TT Re: Same; Email to TT Re: Change Modification (Learning & Wellness Center @ Tradition); Email to and from TT Re: Gulfport Request for Assistance (Ramsey Avenue); Email to TT Re: Vacation Orders (Kozy Kreek and Schanbacher Road); Email to TT Re: Gulf Coast Winter Classic Lease; Email to TT Re: Gulfport Elections Request; Email from TT Re: Special Meeting; Email to and from TT Re: Gulfport Highlands; Email from TT Re: Gulfport Request for Assistance (West Side Park)	2.80	\$150.00	\$420.00
4/13/2017	TT	Email from Doug Rackley Re: Change Modification (Learning & Wellness Center @ Tradition); Email from TCH Re: Change Modification (Learning & Wellness Center @ Tradition); Draft Order Approving Gulfport Request for Assistance (Ramsey Avenue); Email to and from TCH Re: Gulfport Request for Assistance (Ramsey Avenue); Email from TCH Re: Gulfport Highlands; Email from TCH Re: Vacation Orders (Kozy Kreek and Schanbacher Road); Email from Claudine Forbes Re: Gulfport Request for Assistance; Call to Dusty Reed Re: Supervisor Voting Districts; Email to and from Dusty Reed Re: Supervisor Voting Districts; Review/Revise Order Approving Precinct Relocation; Email from TCH Re: Gulf Coast Winter Classic Lease; Email from Kent Jones Re: Gulfport Request for Assistance (Ramsey Avenue); Email from Danny Boudreaux Re: Vacation Order (Kozy Kreek and Schanbacher Road); Multiple Emails to and from Pam Ulrich Re: Special Meeting; Call to Angel Kibler-Middleton Re: Special	3.20	\$150.00	\$480.00

		Special Meeting; Email from Traci Dauro Re: Gulfport Elections Request (x2); Email from TCH Re: Gulfport Elections Request; Email from Becky Payne Re: Gulfport Elections Request; Email to TCH Re: Special Meeting; Email to Norris Hopkins Re: MARSOC MOU; Email to TCH Re: Gulfport Highlands; Email to TCH Re: Gulfport Request for Assistance (West Side Park); Review Utilities Ordinances and Policies			
4/14/2017	ТСН	Email to and from Allison Ellis Re: Mississippi Department of Audit Tax Issue; Email from Mariano Barvie Re: Gulf Coast Winter Classics Condition of Premises; Email to TT Re: Personnel Issue	0.20	\$150.00	\$30.00
4/14/2017	TT	Email from Mariano Barvie Re: Gulf Coast Winter Classic; Email from Pam Ulrich Re: Personnel Issue; Email from TCH Re: Personnel Issue; Email from Lenora Melton Re: Personnel Issue	0.40	\$150.00	\$60.00
4/17/2017	PTG	Received and Reviewed Answer by City of Gulfport Re: Daley v. Rich, et al	0.10	\$150.00	\$15.00
4/17/2017	PTG	Received and Reviewed Amended Application to Clerk for Entry of Default Re: Daley v. Rich, et al	0.10	\$150.00	\$15.00
4/17/2017	PTG	Received and Reviewed Answer to Amended Comlaint by Iberiabank Re: Fisher Resort v. US Bank, et al	0.10	\$150.00	\$15.00
4/17/2017	TCH	Email to and from Angel Middleton Re: Conditions of the Fair Grounds for Gulf Coast Winter Classic; Email to Mariano Barvie Re: Same and Gulf Coast Winter Classic Lease; Multiple Emails to and from TT Re: Gulf Coast Winter Classic; Review Gulf Coast Winter Classic Lease; Conference with TT Re: Public Hearing (Preston); Email to and from TT Re: Arnold; Email to TT Re: Sewer Collection Late Charges	1.40	\$150.00	\$210.00

Meeting; Call from Traci Dauro Re:

4/17/2017	TT	Multiple Emails to and from TCH Re: Gulf Coast Winter Classic; Review/Revise Gulf Coast Winter Classic Lease; Email to and from Claudine Forbes Re: Public Hearing (Preston); Conf w/TCH Re: Public Hearing (Preston); Email to and from Minutes Clerk Re: Menace Property (Dedeaux); Email to and from Cladine Forbes Re: Arnold; Email to TCH Re: Arnold; Review/Revise Order Reinstating Homestead Re: Arnold; Email to and from Amy Lane Re: Menace Property (Dedeaux); Email to and from Claudine Forbes Re: Sewer Collection Late Charges; Email from Angel Kibler-Middleton Re: Gulf Coast Winter Classic; Email from TCH Re: Arnold; Email from TCH Re: Sewer Collection Late Charges; Email to Norris Hopkins Re: MARSOC MOU	2.80	\$150.00	\$420.00
4/18/2017	TCH	Meeting with Hugh Keating, Margaret Murdock, Jeff Bruni and TT Re: Solid Waste Issues; Meeting with John Kelly Re: City of Gulfport Solid Waste Issues; Multiple Emails to and from TT Re: HCWW&SWMD Declaratory Judgment; Email from Angela Thrash Re: Same; Email to and from TT Re: Arnold; Email to TT Re: Tidelands Survey (West Biloxi Boardwalk); Review HCWW and SWMD local and private laws	3.90	\$150.00	\$585.00
4/18/2017	TT	Multiple Emails to and from Mariano Barvie Re: Gulf Coast Winter Classic; Call from Mariano Barvie Re: Gulf Coast Winter Classic; Review/Revise Gulf Coast Winter Classic Lease; Email to and from Minutes Clerk Re: Magnolia Subdivision Plat Amendment; Revise Order Approving Reinstatement of Homestead Re: Arnold; Email to and from TCH Re: Arnold; Email to Claudine Forbes Re: Arnold; Email to Claudine Forbes Re: 4.3.2017 Mintues; Mtg w/TCH, Hugh Keating, Margaret Murdock and Jeff Bruni Re: Solid Waste Issues, Email to John McAdams Re: HCWW&SWMD Declaratory Judgment; Multiple Emails to and from Claudine	6.90	\$150.00	\$1,035.00

\$285.00

Forbes Re: County Appointments to HCWW&SWMD; Email to and from Angela Thrash Re: HCWW&SWMD Declaratory Judgment; Review HCWW&SWMD Local and Private Legislation; Review HCWW&SWMD Solid Waste (k); Email to and from Greg Whitfield Re: Gulf Coast Winter Classic; Multiple Emails to and from TCH Re: HCWW&SWMD Declaratory Judgment: Corr form Brown Mitchell & Alexander Re: Tidelands Survey (West Biloxi Boardwalk); Review Tidelands Survey (West Biloxi Boardwalk); Email from TCH Re: Tidelands Survey (West Biloxi Boardwalk); Email from Pam Ulrich Re: Gulfport Highlands;

4/19/2017 TCH

Email to and from TT Re: Arnold Homestead Reinstatement; Email from TT Re: 1991 Solid Waste Service Agreement; Email from TT Re: Gulfport Request for Assistance (West Side Park); Email to and from TT Re: Romero; Multiple Emails from TT Re: Gulf Coast Winter Classic; Multiple Emails to TT Re: Ortiz Tax Sale; Email to TT Re: Gulfport Highlands; Multiple Emails to TT Re: Solid Waste Issues; Review Documents Relating to County participation in HCWW and SWMD

4/19/2017 TT

Call to Dorinda Sykes Re: HB 1149 (1986); Email to and from Dorinda Sykes Re: HB 1149 (1986); Call to Diane Quincy Re: HB 1149 (1986); Email to and from Diane Quincy Re: HB 1149 (1986); Review HB 1149 (1986); Multiple Emails to and from Sara Fullilove Re: Arnold Homestead Reinstatement: Research/Review Solid Waste Issues; Email to and from TCH Re: Arnold Homestead Reinstatement: Review 1991 Solid Waste Service Agreement; Email to TCH Re: 1991 Solid Waste Service Agreement; Draft Order Approving Gulfport Request for Assistance Re: West Side Park; Email to TCH Re: Gulfport Request for Assistance (West Side Park); Email to Jim Simpson Re: HCUA Solid Waste Disposal (k); Review Romero Notice of

1.90 \$150.00

6.10 \$150.00 \$915.00

Boyce	Holleman	and	Associates

\$150.00

0.10

\$15.00

Page No.: 14

Claim; Email to TCH Re: Romero; Multiple Emails to Mariano Barvie Re: Gulf Coast Winter Classic; Email to TCH Re: Gulf Coast Winter Classic; Multiple Emails from TCH Re: Solid
Waste Issues; Email from Jim Simpson
Re: Solid Waste Issues (x2); Multiple
Emails from TCH Re: Ortiz Tax Sale;
Email from Angel Kibler-Middleton Re:
Gulf Coast Winter Classic; Multiple
Emails from TCH Re: Gulf Coast Winter
Classic; Email from TCH Re: Gulfport
Highlands; Email from TCH Re: Romero
Email to and from TT Re: Gulfnort

		Email from Angel Kibler-Middleton Re: Gulf Coast Winter Classic; Multiple Emails from TCH Re: Gulf Coast Winter Classic; Email from TCH Re: Gulfport Highlands; Email from TCH Re: Romero			
4/20/2017	ТСН	Email to and from TT Re: Gulfport Highlands; Email to TT Re: Dental Services (HCADC)	0.30	\$150.00	\$45.00
4/20/2017	TT	Email from Claudine Forbes Re: Gulfport Request for Assistance (Ramsey Avenue and Westside Park); Finalize Order Approving Precinct Consolidation Re: Lyman; Email to Angel Kibler-Middleton Re: Lyman Precinct; Multiple Emails to and from Traci Dauro Re: Lyman Precinct; Multiple Emails to and from Pam Ulrich Re: Policies and Procedures for Recreational Facilities; Email from Claudine Forbes Re: Gulfport Request for Assistance (West Side Park); Multiple Emails to and from Greg Whitfield Re: Policies and Procedures for Recreational Facilities; Review Policies for Use of County Recreational Facilities; Email from Norris Hopkins Re: MARSOC MOU; Email to and from TCH Re: Gulfport Highlands; Email from Pam Ulrich Re: Dental Services (HCADC); Email from Karen Olier Re: Gulfport Highlands; Email from TCH Re: Dental Services (HCADC); Email from Marlin Ladner Re: Gulfport Request for Assistance (Westside Park)	3.10	\$150.00	\$465.00
4/21/2017	PTG	Received and Reviewed Answer by Smith and Hood Re: Bannerman v. Helsel, et al	0.10	\$150.00	\$15.00

Received and Reviewed Answer and

Counter-Complaint by Ciota Re:

4/21/2017 PTG

Christiana Trust v. Sh
------------------------

4/21/2017	PTG	Received and Reviewed Summons and Writ of Garnishment Re: April Edwards	0.20	\$150.00	\$30.00
4/21/2017	PTG	Received and Reviewed Summons and Writ of Garnishment Re: Johnathon Boyd	0.20	\$150.00	\$30.00
4/21/2017	PTG	Received and Reviewed Summons and Writ of Garnishment Re: Robert Baskett	0.20	\$150.00	\$30.00
4/21/2017	PTG	Received and Reviewed Summons and Writ of Garnishment Re: Ronald Dew	0.20	\$150.00	\$30.00
4/21/2017	PTG	Received and Reviewed Judgment Re: Daley v. Rester, et al	0.10	\$150.00	\$15.00
4/21/2017	TCH	Multiple Emails to and from TT Re: Revised Gulf Coast Winter Classic Lease; Email to TT Re: Grant Administration; Email from TT Re: Gulfport Request for Assistance (West Side Park)	0.60	\$150.00	\$90.00
4/21/2017	TT	Email to Karen Olier Re: Gulfport Highlands; Multiple Emails to and from TCH Re: Revised Gulf Coast Winter Classic Lease; Review/Revise Gulf Coast Winter Classic Lease; Email to Mariano Barvie Re: Gulf Coast Winter Classic Lease; Email to and from TCH Re: Grant Administration; Review Grant Files; Email to TCH Re: Gulfport Request for Assistance (West Side Park); Email to Traci Dauro Re: Gulfport Request for Assistance (Ramsey Avenue); Email from Traci Dauro Re: AGR (k) (Bridge Inspection); Multiple Emails from Pam Ulrich Re: Grant Administration	2.10	\$150.00	\$315.00
4/23/2017	PTG	Received and Reviewed Motion for Judgment on the Pleadings Re: Hinds Reo, LLC v.Hood, et al	0.10	\$150.00	\$15.00
4/24/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Oasis Rea Estate Invetments, Inc. v. Sheilds, et al	0.50	\$150.00	\$75.00

			Boyce Holleman and Associates Page No.: 16		
4/24/2017	PTG	Received and Reviewed Answer by Trustees of Gulf Coast Baptist Assoc. Re: Daley v. Rich, et al	0.10	\$150.00	\$15.00
4/24/2017	TCH	Email and Attached from Jennifer Felde Re: Damon Pittman; Email to TT Re: MSP (K) Amendment	0.30	\$150.00	\$45.00
4/24/2017	ТТ	Email from TCH Re: MSP (k) Amendment; Email to Cindy Alexander Re: MSP (k) Amendment; Review/Revise MSP (k) Amendment	0.50	\$150.00	\$75.00
4/25/2017	PTG	Received and Reviewed Motion for Default Judgment Re: NR Deed v. Wells Fargo, et al	0.10	\$150.00	\$15.00
4/25/2017	TCH	Email and Attachment from Claudine Forbes Re: Agenda Packet for 4.3.2017; Email to Warren Conway Re: Claudell Preston; Email to and from TT Re: Biloxi Fire Department; Email from TT Re: Gulfport Tax Exemptions	0.60	\$150.00	\$90.00
4/25/2017	TT	Email from Peyton Redmond Re: Parfait; Review Parfait Notice of Claim; Email to and from TCH Re: Biloxi Fire Department; Email to and from Minutes Clerk Re: Ricoh Copiers; Draft Order Ratifying Sale of Ricoh Copiers; Email to and from Jody Webster Re: HCADC Food Services (k); Call from Jody Webster Re: HCADC Food Services (k); Draft Notice of Non-Renewal Re: CorVel; Email to Pam Ulrich Re: CorVel; Draft Crowley Resolution; Email to Norris Hopkins Re: Parfait; Email to TCH Re: Gulport Tax Exemptions; Email to Beverly Martin Re; Crowley; Call from Norris Hopkins Re: EE Garnishment; Email to Norris Hopkins Re: EE Garnishment; Finalize Order Authorizing Assistance to St. Vincent de Paul; Email to Beverly Martin Re: St. Vincent de Paul Request for Assistance; Draft Order Denying Claim Re: Parfait; Email to Beverly Martin Re: Parfait; Email from Claudine Forbes Re: Bridgewater Bay TIF; Review Revised Bridgewater Bay TIF Documents; Finalize Order Approving Gulfport Tax Exemption Re: Parcel No. 0811H-02-	6.30	\$150.00	\$945.00

		O55.000; Finalize Order Approving Gulfport Tax Exemption Re: Parcel No. 0911E-01-037.002; Finalize Order Approving Gulfport Tax Exemption Re: Parcel No. 0811H-02-043.000; Finalize Order Approving Gulfport Tax Exemption Parcel No. 1010N-03-006.000; Finalize Order Approving Gulfport Tax Exemption Parcel No. 0911C-02-031.000; Finalize Order Approving Gulfport Tax Exemption Parcel No. 0911E-04-025.000; Multiple Emails to Beverly Martin Re: Gulfport Tax Exemptions; Call to Derek Harless Re: Aramark Food Services (k); Email from Derek Harless Re; Aramark Food Services (k)			
4/26/2017	PTG	Review of File; Preparation of Answer to Complaint Re: Bannerman v. Cherkashina, et al	0.50	\$150.00	\$75.00
4/26/2017	PTG	Received and Reviewed Answer by Hood Re: Oasis Real Estate v. Sheilds, et al	0.10	\$150.00	\$15.00
4/26/2017	PTG	Received and Reviewed Judgment Re: Bannermen v. Helsel, et al	0.10	\$150.00	\$15.00
4/26/2017	TCH	Email and Attached from Claudine Forbes Re: Proposed Agenda Packet for 5.1.2017; Email to TT Re: Menace Property (Gringrow); Multiple Emails to and from TT Re: Brock	0.70	\$150.00	\$105.00
4/26/2017	TT	Email from Claudine Forbes Re: Fairgrounds Rental Agreements; Email from Traci Dauro Re: SMSC; Review SMSC Concessions (k); Email from TCH Re: Menace Property (Gringrow): Draft Order Rescending Menace Order (Gringrow); Email from Claudine Forbes Re: 5.1.2017 Agenda; Review 5.1.2017 Agenda; Email to and from Pam Ulrich Re: Travel Policy; Email from Pam Ulrich Re: Department Travel Policies; Review Tax Collector's Travel Policy; Call from Angela Thrash Re: Brock; Multiple Emails to and from TCH Re: Brock; Email from Angela Thrash Re: Brock	1.80	\$150.00	\$270.00

4/27/2017	PTG	Received and Reviewed Summons and Complaint Re: Lewando v. PC Land Holdings, LLC, et al	0.20	\$150.00	\$30.00
4/27/2017	PTG	Received and Reviewed Summons and Complaint RE: Whittmore v. Anderson, et al	0.20	\$150.00	\$30.00
4/27/2017	TCH	Meeting with Pam Ulrich and Greg Whitfield Re: Parks and Recreationals; Email to Warren Conway Re: Filings on Preston Property; Email from Pam Ulrich Re: Meeting to Discuss Lease Agreement for GCCAA Building; Email and attachment from Pam Ulrich Re: Lease Agreement for GCCAA Building; Email to TT Re: Use of Recreational Facilities	1.50	\$150.00	\$225.00
4/27/2017	TT	Multiple Emails to and from Margaret Murdock Re: Brickyard Bayou Easement; Multiple Emails to and from Pam Ulrich Re: IBC (k); Email from Steve Fallon Re: IBC (k); Email from TCH Re: Use of Recreational Facilities; Email from Pam Ulrich Re: JCCAA Lease Agreement	1.00	\$150.00	\$150.00
4/28/2017	PTG	Review of File; Preparation of Answer to Complaint McCaffrey v. Hood, et al	0.50	\$150.00	\$75.00
4/28/2017	PTG	Review of File; Preparation of Answer of Garnishment Re: Glenn Roe	0.50	\$150.00	\$75.00
4/28/2017	TCH	Multiple Emails to and from TT Re: Harrison County Fair Lease Agreement; Email to and from TT Re: Pass Christian Public Library Request for Assistance; Email to and from TT Re: MARSOC MOU; Email from TT Re: Order Rescinding Menace Adjudication (Gringrow)	0.80	\$150.00	\$120.00
4/28/2017	TT	Email from Kent Jones Re: JCCAA Lease Agreement; Finalize HCFA Lease Agreement; Multiple Emails to and from TCH Re: Harrison County Fair Lease Agreement; Email from Claudine Forbes Re: Pass Christian Public Library Request for Assistance; Draft Order Approving Pass Christian Public Library	6.30	\$150.00	\$945.00

Page No.: 19

Request for Assistance; Email from Claudine Forbes Re: Harrison County Fair: Email from TCH Re: Pass Christian Public Library Request for Assistance; Email to Pam Ulrich Re: IBC (k); Multiple Emails to and from Rita Bentz Re: Gulf Coast Winter Classic Lease; Email to and from TCH Re: MARSOC MOU: Email from Pam Ulrich Re: Palmer Creek Sewer: Email from Marlin Ladner Re: Pass Christian Public Library Request for Assistance; Email from Jody Webster Re: EE Benefits RFP; Review EE Benefits RFP; Conf call with Pam Ulrich and Steve Fallon Re: EE Benefits RFP; Call to Pam Ulrich Re: EE Benefits RFP; Multiple Emails to and from Pam Ulrich Re: EE Benefits RFP; Email to Cindy Alexander Re: MSP (k) Amendment; Finalize Order Rescinding Menace Adjudication (Gringrow); Email to TCH Re: Order Rescinding Menace Adjudication (Gringrow); Email to TCH Re: Pass Christian Public Library Request for Assistance

		Total Fees	\$15,330.00
Expenses			
Start Date	Description	Quantity	Charges
4/07/2017	Lexis Nexis Research April 7, 14, 27	1.00	\$19.97
4/19/2017	Lexis Nexis Research	1.00	\$36.91
		Total Expenses	\$56.88
Amount Due Th	is Invoice	-	\$15,386.88

Jun C. John

Page No.: 20

## Staff Summary

Name	Hours	Rate
Patrick T Guild	14.20	\$150.00
Tim C Holleman	23.30	\$150.00
Tricia Tisdale	64.70	\$150.00